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QUESTION 1

You want to verify that connections are cables correctly and that shelf IDs are unique within an HA pair. Which tool
would be used to accomplish these tasks? 

A. System Diagnostics 

B. Cloud Insights 

C. Active IQ Config Advisor 

D. Active IQ Unified Manager 

Correct Answer: A 

 

QUESTION 2

You have an AFF All SAN Array (ASA) cluster that is running ONTAP 9.7. The cluster is configured for Active Directory
domain controller access using a domain tunnel. 

In this scenario, which two licenses are enabled on the cluster? (Choose two.) 

A. iSCSI 

B. CIFS 

C. NVMe 

D. FCP 

Correct Answer: BD 

 

QUESTION 3

Click the Exhibit button. 
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As shown in the exhibit, you have an 8-node ONTAP 9.7 cluster. You are asked to set up a SnapMirror volume
relationship between node-1 and node-8 in the same cluster. 

In this scenario, which two network components are used by the SnapMirror volume? (Choose two.) 

A. private network 

B. cluster LIFs 

C. client network 

D. management LIFs 

Correct Answer: AB 

 

QUESTION 4

You are planning to install a new ONTAP 9.7 All SAN Array (ASA) into your existing data center. 

In this scenario, which cluster configuration is allowed with ASA controllers? 

A. Add the ASA controllers to an existing 4-node cluster with NAS licenses. 

B. ASA controllers can only be added to clusters that have existing SAN licenses. 

C. ASA controllers can only be installed as a standalone HA pair. 

D. Add the ASA controllers to an existing 10-node cluster. 

Correct Answer: B 

 

QUESTION 5

One of the nodes in your ONTAP 9.7 cluster has failed and is not coming back online. 
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Which two methods would you use to connect to the node failing to come back online? (Choose two.) 

A. Use the Intelligent Platform Management Interface. 

B. Use the Service Processor Interface. 

C. Use Secure Shell. 

D. Use Telnet. 

Correct Answer: BC 

 

QUESTION 6

You are a NetApp Professional Services engineer, employed by NetApp. You have just completed an ONTAP cluster
installation. You need to collect the relevant configuration information to enable the Service Event Report (SER) to be
created. 

Which tool would you use to accomplish this task? 

A. Active IQ scheduled reports 

B. NetAppDocs output report 

C. ONTAP System Manager 

D. Active IQ Config Advisor worksheet 

Correct Answer: A 

 

QUESTION 7

You are installing a new ONTAP 9.7 cluster by following the installation and setup poster. You are ready to complete the
initial cluster setup. You have connected your laptop to the management switch. However, when browsing the network,
you are unable to discover the ONTAP controllers. 

Which statement explains this behavior? 

A. You do not have network discovery enabled. 

B. You do not have a static IP address. 

C. You do not have IPv6 configuration set. 

D. You do not have a default gateway set. 

Correct Answer: D 

 

QUESTION 8

Before starting a base installation on an AFF A400, you need to find out the default cluster interconnect ports for the
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AFF A400 controllers. 

In this scenario, which three resources would you use to find this information? (Choose three.) 

A. Hardware Universe (HWU) 

B. Interoperability Matrix Tool (IMT) 

C. hardware installation setup poster 

D. AFF FAS Documentation Center 

E. Active IQ Unified Manager 

Correct Answer: ACD 

 

QUESTION 9

Click the Exhibit button. 

A customer has two Cisco 40GbE data switches. They want to connect the switches to an AFF A400 HA pair. The
switches and the AFF A400 are approximately seven meters apart. 

Referring to the exhibit, which two supported actions would allow you to accomplish this task? (Choose two.) 

A. Relocate the switches or the AFF A400 so that the distance is less than five meters. 

B. Install 10 meter NetApp supported copper cables. 

C. Change the requirement for Ethernet cables. 

D. Change the requirement for optical cables. 

Correct Answer: BC 

 

QUESTION 10

You are preparing for the installation of a new 2-node cluster with ONTAP 9.7 using NL-SAS drives. Your customer
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wants to use the cluster exclusively with FlexGroups. 

In this scenario, which two statements are correct? (Choose two.) 

A. All NL-SAS drives are assigned only to one of the nodes. 

B. A NAS protocol is licensed on both nodes. 

C. A SAN protocol is licensed on both nodes. 

D. All NL-SAS drives are divided evenly across both nodes. 

Correct Answer: BD 

Reference: https://www.netapp.com/media/12385-tr4571.pdf 
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